

Now take an arbitrary positive ε . By definition of u, v and Lemma 2 we can find a K such that we have

$$\begin{aligned} S(x) &\leq (v + \varepsilon)x + K, \\ S(a_k) &\leq (u + \varepsilon)a_k + K, \\ S(x) &\geq (u - \varepsilon)x - K \end{aligned}$$

for all x and k . Applying these inequalities in this order to the terms of (14) we obtain

$$S(y) \leq vy - (v - u)a_n + \varepsilon(y + 2a_{n+1} - 2a_n) + 3K.$$

Taking into account that $a_n \geq y/2$ and $a_{n+1} \leq 2y$, this gives

$$S(y) \leq \frac{u+v}{2}y + 5\varepsilon y + 3K.$$

Dividing by y and taking the limsup we get

$$v \leq (u+v)/2 + 5\varepsilon.$$

Since this holds for every $\varepsilon > 0$, we have $v \leq u$. ■

Remark. (1) was used several times in the course of the proof. The crucial one seems to be that in the proof of Lemma 2 to infer $d_{i+1} - d_i \leq a_m$: in the rest weaker assumptions would also work.

Acknowledgement. I have profited much from discussing the problem with Professor P. Erdős.

Reference

- [1] U. Zannier, *An elementary proof of some results concerning sums of distinct terms from a given sequence of integers*, to appear in *Studia Math. Sci. Hungarica*.

DIMACS, HILL CENTER
RUTGERS UNIVERSITY
P.O.B. 1179, Piscataway
NJ 08855-1179, U.S.A.

MATHEMATICAL INSTITUTE OF THE HUNGARIAN ACADEMY OF SCIENCES
Budapest, Pf. 127
H-1364 Hungary

Received on 11.1.1990
and in revised form on 27.3.1990

(2001)

An additive problem of prime numbers

by

AKIO FUJII (Tokyo)

1. Introduction. Let $\Lambda(x) = \log p$ if $x = p^m$ with a prime number p and an integer $m \geq 1$, and $= 0$ otherwise. We put

$$r_2(n) = \sum_{m+k=n} \Lambda(m)\Lambda(k), \quad S_2(n) = \prod_{p|n} \left(1 + \frac{1}{p-1}\right) \prod_{p \nmid n} \left(1 - \frac{1}{(p-1)^2}\right).$$

It is a long standing conjecture of Goldbach that

$$r_2(n) > 0 \quad \text{for even } n \geq 6.$$

Quantitatively, it is a conjecture of Hardy and Littlewood that

$$r_2(n) \sim nS_2(n) \quad \text{as even } n \rightarrow \infty.$$

In this article, we are concerned with the asymptotic behavior of the sum

$$\sum_{n \leq X} (r_2(n) - nS_2(n)) \quad \text{as } X \rightarrow \infty.$$

We recall a well-known result related with this problem. It is shown by van der Corput [2], Chudakov [3] and Estermann [4] that

$$\sum_{n \leq X} (r_2(n) - nS_2(n))^2 \ll X^3 (\log X)^{-A},$$

where A is any positive constant. This implies, in particular, that

$$\sum_{n \leq X} r_2(n) = \frac{1}{2}X^2 + O(X^2 (\log X)^{-A}),$$

since by Lemma 1 of Montgomery and Vaughan [8]

$$\sum_{n \leq X} nS_2(n) = \frac{1}{2}X^2 + O(X \log X).$$

The purpose of the present article is to refine this under the Riemann Hypothesis (RH) as follows.

THEOREM (on RH).

$$\sum_{n \leq X} r_2(n) = \frac{1}{2}X^2 + O(X^{3/2}).$$

The key idea of the proof of this theorem is to apply Gallagher's Lemma 1 of [5].

We assume RH throughout the rest of this article.

2. Proof of Theorem. We put

$$R(y) = \sum_{n \leq y} \Lambda(n) - y \quad \text{for } y > 0.$$

We suppose first that X is an integer N . By 8.59 of p. 258 of Prachar [9]

$$\begin{aligned} \sum_{n \leq N} r_2(n) &= \sum_{m \leq N} \Lambda(m) \sum_{n \leq N-m} \Lambda(n) \\ &= \sum_{m \leq N} \Lambda(m)(N-m) + \sum_{2 \leq m \leq N-2} \Lambda(m)R(N-m) + O(\log N) \\ &= \frac{1}{2}N^2 + \sum_{2 \leq m \leq N-2} \Lambda(m)R(N-m) + O(N^{3/2}) \\ &= \frac{1}{2}N^2 + S + O(N^{3/2}), \quad \text{say.} \end{aligned}$$

By Satz 4.5 of p. 231 of Prachar [9], we get for $T \geq 2$,

$$\begin{aligned} S &= \sum_{2 \leq m \leq N-2} \Lambda(N-m)R(m) \\ &= \sum_{2 \leq m \leq N-2} \Lambda(N-m) \left\{ - \sum_{|y| \leq T} \frac{m^y}{y} + O\left(\frac{m}{T} \log^2(mT)\right) + O(\log m) \right\} \\ &= - \sum_{2 \leq m \leq N-2} \Lambda(N-m) \sum_{|y| \leq T} \frac{m^y}{y} + O\left(\frac{N^2}{T} \log^2(NT)\right) + O(N \log N) \\ &= S_1 + O\left(\frac{N^2}{T} \log^2(NT)\right) + O(N \log N), \quad \text{say,} \end{aligned}$$

where $\varrho = 1/2 + iy$ runs over the zeros of $\zeta(s)$. Hereafter we suppose that $1 \ll T \ll N$. We have

$$\begin{aligned} S_1 &= - \sum_{2 \leq m \leq N-2} \sqrt{m} \Lambda(N-m) \sum_{|y| \leq T} \frac{m^{iy}}{1/2 + iy} \\ &= -2\text{Im} \left\{ \sum_{2 \leq m \leq N-2} \sqrt{m} \Lambda(N-m) \sum_{0 < \gamma \leq T} \frac{m^{i\gamma}}{\gamma} \right\} \end{aligned}$$

$$+ O\left(\sum_{m \leq N} \sqrt{m} \Lambda(N-m) \sum_{0 < \gamma \leq T} \frac{1}{\gamma^2} \right) = -2\text{Im}(S_2) + S_3, \quad \text{say,}$$

with $S_3 \ll N^{3/2}$.

To evaluate S_2 , we notice first that by the Riemann-von Mangoldt formula, we get for $Y > Y_0$,

$$\begin{aligned} \sum_{0 < \gamma \leq Y} \frac{1}{\gamma} &= \frac{1}{4\pi} \log^2 Y - \frac{\log(2\pi)}{2\pi} \log Y + \int_1^\infty \frac{S(t)}{t^2} dt - \frac{1 + \log(2\pi)}{2\pi} + \frac{7}{8} + \int_1^\infty \frac{\eta(t)}{t^2} dt + B(Y) \\ &= A(Y) + B(Y), \quad \text{say,} \end{aligned}$$

where $S(t) = (1/\pi) \arg \zeta(1/2 + it)$ as usual, $\eta(t)$ satisfies $\eta(t) = O(1/t)$ for $t > t_0$ and we put

$$B(Y) = \frac{S(Y)}{Y} - \int_Y^\infty \frac{S(t)}{t^2} dt + \frac{\eta(Y)}{Y} - \int_Y^\infty \frac{\eta(t)}{t^2} dt.$$

We notice next that if $N > Z \geq 1$,

$$\begin{aligned} \sum_{m \leq Z} \sqrt{m} \Lambda(N-m) &= \sum_{N-Z < n \leq N-1} \sqrt{N-n} \Lambda(n) + \Lambda(N-Z) \sqrt{Z} \\ &= \int_{N-Z}^{N-1} \sqrt{N-y} d(y + R(y)) + \Lambda(N-Z) \sqrt{Z} \\ &= \int_{N-Z}^{N-1} \sqrt{N-y} dy + R(N-1) - \sqrt{Z} R(N-Z) \\ &\quad + \frac{1}{2} \int_{N-Z}^{N-1} \frac{R(y)}{\sqrt{N-y}} dy + \Lambda(N-Z) \sqrt{Z} \\ &= C(Z) + D(Z), \quad \text{say,} \end{aligned}$$

where we put

$$C(Z) = \frac{2}{3}Z^{3/2} - \frac{2}{3},$$

$$D(Z) = R(N-1) - \sqrt{Z} R(N-Z) + \frac{1}{2} \int_{N-Z}^{N-1} \frac{R(y)}{\sqrt{N-y}} dy + \Lambda(N-Z) \sqrt{Z}.$$

If $N \leq Z$,

$$\begin{aligned} \sum_{m \leq Z} \sqrt{m} \Lambda(N-m) &= \sum_{1 < n \leq N-1} \sqrt{N-n} \Lambda(n) \\ &= \int_1^{N-1} \sqrt{N-y} dy + \sqrt{N-1} + R(N-1) + \frac{1}{2} \int_1^{N-1} \frac{R(y)}{\sqrt{N-y}} dy. \end{aligned}$$

Consequently, we put for $N \leq Z$,

$$\begin{aligned} D(Z) &= \sum_{m \leq Z} \sqrt{m} \Lambda(N-m) - \left(\frac{2}{3} Z^{3/2} - \frac{2}{3} \right) \\ &= \frac{2}{3} (N-1)^{3/2} - \frac{2}{3} Z^{3/2} + \sqrt{N-1} + R(N-1) + \frac{1}{2} \int_1^{N-1} \frac{R(y)}{\sqrt{N-y}} dy. \end{aligned}$$

Now,

$$\begin{aligned} S_2 &= \int_1^T \int_1^N v^{it} d(C(v) + D(v)) d(A(t) + B(t)) \\ &= \int_1^T \int_0^{\log N} e^{itx} d(C(e^x) + D(e^x)) d(A(t) + B(t)) \\ &= \int_1^T \int_0^{\log N} e^{itx} \{ -dC(e^x) dA(t) + dC(e^x) d(A(t) + B(t)) \\ &\quad + d(C(e^x) + D(e^x)) dA(t) + dD(e^x) dB(t) \} \\ &= S_4 + S_5 + S_6 + S_7, \quad \text{say,} \end{aligned}$$

$$S_4 = - \int_1^T \int_0^{\log N} e^{itx} \left(\frac{1}{2\pi} \log t \cdot \frac{1}{t} - \frac{\log 2\pi}{2\pi} \cdot \frac{1}{t} \right) e^{3x/2} dx dt \ll N^{3/2} \int_1^T \frac{\log t}{t^2} dt \ll N^{3/2},$$

$$\begin{aligned} S_5 &= \int_1^T \int_0^{\log N} e^{itx} e^{3x/2} dx d(A(t) + B(t)) \\ &\ll N^{3/2} \left(\left[\frac{1}{t} \sum_{0 < \gamma < t} \frac{1}{\gamma} \right]_1^T + \int_1^T \frac{1}{t^2} \sum_{0 < \gamma < t} \frac{1}{\gamma} dt \right) \ll N^{3/2}. \end{aligned}$$

Since

$$\int_1^T e^{itx} \left(\frac{1}{2\pi} \log t \cdot \frac{1}{t} - \frac{\log 2\pi}{2\pi} \cdot \frac{1}{t} \right) dt \ll \min(1/x, \log^2 T),$$

we get

$$\begin{aligned} S_6 &= \int_0^1 O(\log^2 T) d \left(\sum_{m < e^x} \sqrt{m} \Lambda(N-m) \right) + \int_1^{\log N} O(1/x) d \left(\sum_{m < e^x} \sqrt{m} \Lambda(N-m) \right) \\ &\ll N^{3/2}. \end{aligned}$$

By Gallagher's lemma (cf. Lemma 1 of [5]), we get

$$\begin{aligned} S_7 &\ll T \log N \cdot \max_{0 < \delta \leq 1/T} \left(\int_0^{\log N} (D(e^{y+\delta}) - D(e^y))^2 dy \right)^{1/2} \\ &\quad \times \left(\int_1^T \left(B \left(t + \frac{1}{2 \log N} \right) - B(t) \right)^2 dt \right)^{1/2}. \end{aligned}$$

We denote the last two integrals by S_8 and S_9 , respectively. We have

$$\begin{aligned} S_8 &\ll \int_0^{\log N - \delta} \left\{ -\sqrt{e^{y+\delta}} R(N - e^{y+\delta}) + \frac{1}{2} \int_{N - e^{y+\delta}}^{N-1} \frac{R(u)}{\sqrt{N-u}} du \right. \\ &\quad \left. + \sqrt{e^y} R(N - e^y) - \frac{1}{2} \int_{N - e^y}^{N-1} \frac{R(u)}{\sqrt{N-u}} du \right\}^2 dy \\ &\quad + \int_{\log N - \delta}^{\log N} \left\{ \frac{2}{3} ((N-1)^{3/2} - e^{3(y+\delta)/2}) + \frac{1}{2} \int_1^{N-1} \frac{R(u)}{\sqrt{N-u}} du + \sqrt{N-1} \right. \\ &\quad \left. + \sqrt{e^y} R(N - e^y) - \frac{1}{2} \int_{N - e^y}^{N-1} \frac{R(u)}{\sqrt{N-u}} du \right\}^2 dy \end{aligned}$$

= $S_{10} + S_{11}$, say,

$$S_{11} \ll \int_{\log N - \delta}^{\log N} \left\{ \frac{N^{3/2}}{T} + \sqrt{N} \left(\frac{N}{T} \right)^{1/2} \log^2 N \right\}^2 dy \ll \frac{1}{T} \left(\frac{N^3}{T^2} + \frac{N^2}{T} \log^4 N \right),$$

since for $\log N - \delta \leq y \leq \log N$,

$$\int_1^{N - e^y} \frac{R(u)}{\sqrt{N-u}} du \ll \int_1^{N/T} \frac{R(u)}{\sqrt{N-u}} du \ll \left(\frac{N}{T} \right)^{3/2} \frac{1}{\sqrt{N}} \log^2 N.$$

Next,

$$\begin{aligned} S_{10} &\ll \int_0^{\log N - \delta} e^y (R(N - e^{y+\delta}) - R(N - e^y))^2 dy \\ &\quad + \int_0^{\log N - \delta} \left(\int_{N - e^{y+\delta}}^{N - e^y} \frac{R(u)}{\sqrt{N-u}} du \right)^2 dy + \int_0^{\log N - \delta} \left(\sqrt{e^y} R(N - e^{y+\delta}) \frac{1}{T} \right)^2 dy \end{aligned}$$

= $S_{12} + S_{13} + S_{14}$, say,

$$\begin{aligned} S_{12} &= \int_{N(1 - e^{-\delta})}^{N-1} \{ R(x + x(e^\delta - 1)) - N(e^\delta - 1) - R(x) \}^2 dx \\ &\ll \int_{N(1 - e^{-\delta})}^{N-1} \{ R(x + x(e^\delta - 1)) - N(e^\delta - 1) - R(x + x(e^\delta - 1)) \}^2 dx \\ &\quad + \int_{N(1 - e^{-\delta})}^{N-1} \{ R(x + x(e^\delta - 1)) - R(x) \}^2 dx \\ &\ll \int_{N(e^\delta - 1)}^{(N-1)e^\delta} (R(y - N(e^\delta - 1)) - R(y))^2 dy \\ &\quad + \int_{N(1 - e^{-\delta})}^{N-1} (R(x + x(e^\delta - 1)) - R(x))^2 dx. \end{aligned}$$

The last two types of the mean values are treated in Saffari and Vaughan [10] (cf. also Goldston and Montgomery [6]). Using their results, we get

$$S_{12} \ll N^2 \max_{0 < \delta \leq 1/T} \delta \log^2(1/\delta) \ll \frac{N^2}{T} \log^2 N.$$

Since

$$\begin{aligned} S_{13} &\ll N \log^4 N \int_0^{\log N - \delta} \left(\int_{N - e^{y+\delta}}^{N - e^y} \frac{du}{\sqrt{N-u}} \right)^2 dy \\ &\ll \frac{N}{T^2} \log^4 N \int_0^{\log N - \delta} e^y dy \ll \frac{N^2}{T^2} \log^4 N \end{aligned}$$

and

$$S_{14} \ll \frac{N^2}{T^2} \log^4 N,$$

we get

$$S_8 \ll \frac{N^2}{T} \log^2 N + \frac{N^3}{T^3} + \frac{N^2}{T^2} \log^4 N.$$

To conclude our estimate on S_7 , we notice that

$$S_9 \ll \int_1^T \left(\frac{\log t}{t} \right)^2 dt \ll 1.$$

Consequently,

$$S_7 \ll T \log N \left(\frac{N}{\sqrt{T}} \log N + \frac{N^{3/2}}{T^{3/2}} + \frac{N}{T} \log^2 N \right).$$

Choosing $T = \sqrt{N} \log^2 N$, we get $S = O(N^{3/2})$. Thus

$$\sum_{n \leq N} r_2(n) = \frac{1}{2} N^2 + O(N^{3/2}).$$

It is clear that the restriction on X imposed at the beginning may be removed within the remainder term.

References

- [1] E. Bombieri and H. Iwaniec, *On the order of $\zeta(\frac{1}{2} + it)$* , Ann. Scuola Norm. Sup. Pisa Cl. Sci. (4) 13 (1986), 449–472.
 [2] J. G. van der Corput, *Sur l'hypothèse de Goldbach pour presque tous les nombres pairs*, Acta Arith. 2 (1937), 266–290.

- [3] N. G. Chudakov, *On the density of the set of even numbers which are not represented as a sum of two odd primes*, Izv. Akad. Nauk SSSR 2 (1938), 25–40.
 [4] T. Estermann, *On Goldbach's problem: Proof that almost all even positive integers are sums of two primes*, Proc. London Math. Soc. (2) 44 (1938), 307–314.
 [5] P. X. Gallagher, *A double sum over primes and zeros of the zeta function*, in: *Number Theory, Trace Formula and Discrete Groups*, Academic Press, 1989, 229–240.
 [6] D. A. Goldston and H. L. Montgomery, *Pair correlation of zeros and primes in short intervals*, in: *Analytic Number Theory and Diophantine Problems*, Birkhäuser, 1987, 183–203.
 [7] A. P. Guinand, *Some Fourier transforms in prime number theory*, Quart. J. Math. Oxford 18 (1947), 53–64.
 [8] H. L. Montgomery and R. C. Vaughan, *Error terms in additive prime number theory*, *ibid.* 24 (1973), 207–216.
 [9] K. Prachar, *Primzahlverteilung*, Springer, 1957.
 [10] B. Saffari and R. C. Vaughan, *On the fractional parts of x/n and related sequences, II*, Ann. Inst. Fourier (Grenoble) 27 (2) (1977), 1–30.

DEPARTMENT OF MATHEMATICS
 RIKKYO UNIVERSITY
 Tokyo, Japan

Received on 12.3.1990

(2017)